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S0O-06
June - Examination 2019
B. A. Pt. lll Examination
Social Anthropology
Paper - SO-06
Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 7X2=14
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l

S0-06/3400/ 4 (1) (P.T.0)



683

1) (i) Whatis the primary objective of Social Anthropology?
AT AR T T 29T T ¢ ?

(i) Define Primitive society.

e FHIST ol IRIINT IR |

(iii) Who is the author of ‘Other Cultures’?
IR Bedd | B OgD BT A IS |

(iv) Who is regarded as the father of structural functionalism?
HRAHTCHD UHRIATG &1 ST sl HHT ST & 2

(v) What is dumb barter?
9% g faf-mrr orm g ?

(vi) Name the author of the book ‘The Mothers’
g AGH’ & gD BT A I |

(vii) Who gave the concept of Classificatory kinship
terminology?

T ATASRT el ol TR fha- &f ?

Section - B 4x7=28
(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

Qus - §
(oTg IR 99 )
fAder: gl IR oAl & IR VI MY U7 ITR B 31ferday
200 vregf ¥ gRAAT HIfoTe| U ueT 7 3 a1 2l
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What are the limitations of social anthropology as a science?

AT AR &f fIsT< & w9 d 7 FHv g2

What is unilinear descent?
UepTeh! fograer am g 2

Explain the evolutionary theory of the origin of the family.

gRaR &t IRy & IR Rigid 6 TR |

Describe any three ways of mate selection in tribal society.

S T § Stgereft g & g i a<id aadrsd|

Explain consanguine kinship.

ThATERElT ATAGRT & et aR |

What do you mean by avoidance? Comment.
uRER & MY T JHer & ? AR a7k Hif)
What is animism? Explain it.

Sttaarg @ g ? fadem Hifml

Write a note on primitive political system.
A o egeve R U fewuft ford|
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Section-C 2X14=28
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each

answer maximum up to 500 words. Each question carries
14 marks.

Qus - |
(e TR ¥ed)
fAder : el Q1 Uel & IR SRTI 3T 3o ITR B 3fErepead 500
gregl B gRAfT HITTI URd T 14 3t o7 &

10) What do you understand by Alliance theory of kinship?
TTAGRY & A a1 Tode RIGa & 31T ar AHed B ?

11) Describe the prevalent rules of marriage in tribal societies.

ST F9TST | faarg & Ueiferd fFRIT @1 guf ey |

12) Explain the evolutionary theory of culture.
Gpid Hag & Sfgmria RIga o R ol

13) Differentiate between religion and magic.

7 Tg ST H 3R TSe HIRT
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